Mr. Skerrett SCH4C

Calculating [H+], [OH-], and pH Worksheet
1. 
Calculate [OH-] in solutions that have the following values for [H+]: 

a. 4.0 x 10-3 M 





______________     


b. 8.7 x 10-3 M  





______________

c. 3.9 x 10-6 M 





______________

2. Calculate [H+] in solutions in which [OH-] is 

a. .0010 M






______________            

b. 3.4 x 10-4 M 





______________

c. 9.2 x 10-10 M       





______________

3. 
Find the pH of solutions with the following [H+].  Classify each as acidic or basic. 

a. 1.0 x 10-2 M 





______________

b. .00010 M 






______________

c. 4.0 x 10-5 M 





______________

d. 6.2 x 10-10 M 





______________

e. 7.0 x 10-3 M     





______________

4. 
Calculate [H+] and [OH-] in solutions with the following pH: 

a. 4.25



______________

______________     

b. 8.52     


______________

______________

c. 1.43      


______________

______________

d. 12.65 


______________

______________

5. 
Solution A has [OH-] = 3.2 x 10-4 M.  Solution B has [H+] = 6.9 X 10-9 M. Which solution is more basic?   Which has the lower pH? 

6. 
One solution has a pH of 3.20.  What must be the pH of another solution so that [H+] is four times as large?   One fourth as large? 

7.
Unpolluted rain water has a pH of about 5.50.  Acid rain has been shown to have a pH as low as 3.00. Calculate the [H+] ratio in acid rain to unpolluted rain. 

	ANSWERS

1. A)
2.5 x 10-12
B)    1.3 x 10-12       C)    2.0 x 10-9
2. A)
1.0 x 10-11
B)    3.2 x 10-11          C)    1.0 x 10-5
3. A)
2
B)
4
C)
4.4
D)
9.2
E)       2.1

4. A)
[H+] =5.6 x 10-5    B) [H+] =3.0 x 10-9
   C) [H+] =3.7 x 10-2
   D) [H+] =2.2 x 10-13
          [OH-] =1.7 x 10-10     [OH-] =3.3 x 10-6       [OH-] =2.7 x 10-13       [OH-] =4.5 x 10-2
5. A is more basic

    B has a lower pH

6. (4x)    = 2.6

    (1/4x) = 3.8

7. Acid rain is 312.5 times more concentrated


